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All guestions carry equal marks. Answer any five questions.
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Questions should be answered either in Hindi or in English, but the
same medium should be used throughout the paper.
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1. Why do we have different methods of measuring national income? Why should
they give the same estimate?
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2. What is an investment multiplier in a two sector model? How is the value of
multiplier determined? Mention the various leakages in the multiplier process.
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3. (a) Explain the problem of double counting in estimating national income by
giving suitable exampies.
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(b) If consumption function C=50+0-80Y, write the corresponding saving
function. At what level of income does saving become zero?
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4. Using suitable diagrams explain the determination of equilibrium level of income
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in an open economy.
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Calculate the equilibrium level of income from the following data:

Consumption C= 40+0-6Y. (Ya= disposable income)

Investment =80 crores
Government expenditure =40 crores
Taxes =40 crores.
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What do you understand by the money multiplier? Discuss its relevance and also
explain the process of credit creation by commercial banks.
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Explain the speculative motive of demand for money and also the total demand
for money. ' '
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Write short notes on any two:
(a) Balanced Budget Muitiplier
{b) Quantity Theory of Money

{(¢) Circular Flow of Income in a Four Sector Economy.
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